Argonne Scan anl0052Gv on 20020129 with CF ID = 14

Module Average VoduleHisio
Nent = 708
0.2 o Mean x = 164.6
F Mean y = 0.0747
0.18 F RMS x = 63.13
016 [RMS y = 0.01437
0.14
0.12
0.1
0.08
0.06
0.04
00z2| L-200=0.0704
0 n T n T Yaay ob 8o @ N 1 N 1 N
0 50 100 150 200 250 300 350 400
Fiber Average Fiberhisto
Nent = 708
0.2 o Mean x = 238.8
o Mean y = 0.0747
018 F RMS x = 76.35
0.16F [RMS Y = 0.01437
0.14F
0.12F
0.1f
0.08F
0.06F~
0.04F
0.02 L_200 F=0.0766
0 n Y n Y n | L | = = il 0 m ==
0 50 100 150 200 250 300 350 400
20 pc Deviants D20pc
Nent = 24
@ F Mean = 21.25
£ 18[ RMS = 11.69
s F
e E
# 16
14
12
10
Clog
6f
4
2f
0:1....|....|....|....|....|....
0 5 10 15 20 25
Strip ID

Fri Jul 26 17:22:29 2002

L200 per strip

# Strips

7

L200s
Nent = 28

Mean = 0.06957
RMS =0.01576

0.02 0.04 0.06 0.12
L200
[ L200 Fiber per strip | 2007s
Nent = 28
g 6'_ Mean =0.07375
= - RMS = 0.01668
s F
#® [
S
=
s
2F
l_—‘
o) i P R 1 L
0 0.02 0.04 0.06 0.1
L200F
30 pc Deviants D30pc
Nent = 21
@ F Mean = 24.14
€ 18F RMS = 9.448
s F
e F
w 16
14~
12F-
10
8
2
1 I N PPN NI PR R B N
0 5 10 15 20 25
Strip ID

L200 vs Strip

L200Strip
Nent = 28
80'12 r Mean x = 14.5
S F Mean y = 0.06957
- RMS x = 8.078
0.1 RMS v =0.01576
L L
L ° .
B [}
0.8 o o ® ° °
re [} ° [ ] [ ] °
e T *ee ® @Y . e
— [ [ J
0.06_ ° [ ]
(O
0.02—
) I I N S B RS
0 5 10 15 20 25 .
Strip ID
[ L200 Fiber vs Strip } L200FStrip
Nent = 28
%0.12 N Mean x = 14.5
Q - Mean y = 0.07375
- - RMS x = 8.078
0.1~ n RMS v _=0.01668
r n
- | | u
n u
0.08[ g n " - u LI
- .‘.'. n L

Data/Fit

-

25
Strip ID

2

s | s | s | s
150 200

250
Distance (cm)




Argonne Scan anl0052Gv on 20020129 with CF ID = 14

.

Integral pe
o
o [
= N

o
o
]

o
o
=

o
o
o

o

o
o
° >
III|III|III|III|III|III|III

50 100

i

150

200

300
Distance (cm)

Integral pe
o
o [
= N

o
o
]

o
o
=

o
o
o

o

o
o
° >
III|III|III|III|III|III|III

i

150

200

250 300
Distance (cm)

Integral pe
o
=
N

o
[

o
o
©

o
o
=

o
o
o

o

o
o
° 5
III|III|III|III|III|III|III

50 100
Fri Jul 26 17:22:26 2002

150

200

300
Distance (cm)

Integral pe

Integral pe

Integral pe

©
© I
[ N

o©
o
o

I o
o o
N i

o

o
o
o (o]
III|III|III|III|III|III|III

o o o o o
o =} =} o © e
N B (&} @ - N

o

<)
III|III|III|III|III|III|III

o o o o o
o =} o o o [N
N B (o)) (s3] - N

o

o
III|III|III|III|III|III|III

i

50

i

100

150 200 300
Distance (cm)

/

50

i

100

150 200 250 300
Distance (cm)

[

50

100

150 200 300
Distance (cm)




Argonne Scan anl0052Gv on 20020129 with CF ID = 14

i

Integral pe
o ° o
=) o o in
(2] oo = N

o
o
=

o
o
o

Integral pe
o
I
N

o
[

1
1

o©
o
o

©
=}
=

©
=}
)

o

a
o

o

o
o
o (o]
III|III|III|III|III|III|III

150 200 50 100

300
Distance (cm)

(BN
o

300
Distance (cm)

Integral pe
o o o
=) o o n
D o5} [ N

o
o
=

o
o
o

[

Integral pe
o
I
N

o
[

1
o
o
o

o
=}
>

o
=}
=

©
Q
)

o

a
o

[
(SR

o

150 200 250 100

300
Distance (cm)

=
N

250 300
Distance (cm)

Integral pe
o o o
o o o i
(o2} @ - N

o
o
=

o
o
o

o
o
<]

Integral pe
o
=
N

o
o

o
(=
>

o
=}
=

©
Q
)

o

a
o

o

|

3]
o

150 200 100

300
Distance (cm)

300
Distance (cm)




Integral pe

Integral pe

Integral pe

Argonne Scan anl0052Gv on 20020129 with CF ID = 14

[EEY
w

o
[
N

o
-

o
o
]

o
o
>

o
o
=

o
o
o

o

o
-
N

o
-

o
o
]

o
o
)

o
o
=

o
o
o

o

o
[
N

o
[

o
o
©

o
o
>

o
o
=

o
o
o

o

0 50 100 150 200 300
Distance (cm)
15 i
- S —
C L 1 L 1 L 1 L 1 L 1 L 1
0 50 100 150 200 250 300
Distance (cm)
17 '
C L 1 L 1 L 1 L 1 L 1 L 1
0 50 100 150 200

300
Distance (cm)

Integral pe

Integral pe

Integral pe

H
N

o
e
N

o
[

o©
o
o

o
=}
>

©
=}
=

©
=}
)

o

o
-
N

o
[

o
o
o

o
=}
>

o
=}
=

©
Q
)

o

o
[
N

o
o

©
o
o

o©
o
)

o
=}
=

©
Q
)

o

0 50 100 150 200 300
Distance (cm)
16 '
C L 1 1 L 1 L 1 L 1 L 1
0 50 100 150 200 250 300
Distance (cm)
18 '
- ~— _
— ' | | ' | ' | ' | ' 1
0 50 100 150 200

300
Distance (cm)




Integral pe

Integral pe

Integral pe

Argonne Scan anl0052Gv on 20020129 with CF ID = 14

[EEY
©

o
[
N

o
-

o
o
]

o
o
>

o
o
=

o
o
o

o
a
o

100 150 200 300
Distance (cm)

o
-
N

o
-

o
o
]

o
o
)

o
o
=

o
o
o

o
a
o

N
w

100 150 200 250 300
Distance (cm)

o
[
N

o
[

o
o
©

o
o
>

o
o
=

o
o
o

o
a
o

100 150 200 300
Distance (cm)

Integral pe

Integral pe

Integral pe

o
e
N

o
[

o©
o
o

o
=}
>

©
=}
=

©
=}
)

o

o
-
N

o
[

o
o
o

o
=}
>

o
=}
=

©
Q
)

o

o
[
N

o
o

©
o
o

o©
o
)

o
=}
=

©
Q
)

o

N
o

C L 1 L 1 L 1 L 1 L 1 L 1
0 50 100 150 200 300
Distance (cm)
22 '
C L 1 L 1 L 1 L 1 L 1 L 1
0 50 100 150 200 250 300
Distance (cm)
24 '
C S _ -
— L 1 L 1 L 1 L 1 L 1 L 1
0 50 100 150 200

300
Distance (cm)




Integral pe

Integral pe

Integral pe

Fri Jul 26 17:22:27 2002

o
[
N

o
-

o
o
]

o
o
>

o
o
=

o
o
o

o

o
-
N

o
-

o
o
]

o
o
)

o
o
=

o
o
o

o

o
[
N

o
[

o
o
©

o
o
>

o
o
=

o
o
o

o

Argonne Scan anl0052Gv on 20020129 with CF ID = 14

N
(3]

a
o

N
~

300
Distance (cm)

a
o

250 300
Distance (cm)

o
III|III|III|III|III|III|III

300
Distance (cm)

Integral pe

Integral pe

0.12

0.1

0.08

0.06

0.04

0.02

0.12

0.1

0.08

0.06

0.04

0.02

0.14

0.12

o o o o
o o o o o
[ i & =3 i

o

o
III|III|III|III|III|III

N
(o)}

3]
o

N
(o]

100

300
Distance (cm)

3]
o

100

300
Distance (cm)

IITTTT|||I"|I|||

ModuleHisto_pfx
Nent = 529

Mean = 166
RMS = 63.04

L_200 = 0.07

100 150

350

400



Argonne LI Scan for anl0052Gv

%) I~ ) o
F1 -
5 o - ) <160
S C S T
w - o 140[—
ch> 5 © OF
° o @} -
s F Q1201
8 4 < ooF F1 Gain |
3 L B 100
=z C -
3 80—
- 60—
21— _
- 40
1 -
C 20—
0_ U 1 I O_ 1 1 1 1 I 1 I I I 1 1 I 1 1 1 1 I
0 5 10 15 20 25 30 0 5 10 15 20 25 30
Channel Number Channel Number
(%] I~ ra :
c ~ a -
g 6— 3 160—
e F s F
C 2 _
w ol 91401
2 C O -
£ L C 1201~
3 4 s FJ F2 Gain |
2 - T 100
@ C & -
= -
3 80—
C 60
2= -
- a0F-
1 -
C 20—
O_ 1 1 1 1 I 1 I I I 1 1 I 1 1 1 1 I O_ 1 1 1 1 I 1 I I I 1 1 I 1 1 1 1 I
0 5 10 15 20 30 0 5 10 15 20 30

Fri Jul 26 17:21:33 2002

25
Channel Number

25
Channel Number




